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And if it is to remove the pus from it, he is exempt

OVERVIEW

"X 27 challenged the ruling of PXmw (that it is forbidden nawa 17%nn2 91w2%) from a
mwn in M7V which states that one is permitted to burst an abscess on Naw in order
to remove the pus. Here too by 71°¥2 he should be permitted to be 2312 even though
he [either extracts 07 or] makes an opening, just as he is permitted by Xomn 097
even though he [removes pus and blood, or] makes an opening. n1901N clarifies the
question and answer in the X773.

- 111)’}3\’) 295 N 19PN (0w 3,17 917 nav) DINIY NINY P93
In 239w annw P99 the X1 establishes this 71wn according to w'9 who maintains

that a 79137 7278 APRW 7OR7N is (MOR 72X) Mwo.
- InnaYh XY 1998 NID D19 19D 1095 D11 2MNT YN 397 NINYT XPYD)

And X"= who challenged X1, initially assumed that the o°>n2 27 is encased
(so there is no issue of 7M2an), and he also assumed that the Y12 requires the 27,

but not the opening; in which case making the opening is a 3"2¥Xwn -
- “noNY N9298 NIRY NANYN N7 *PYNY 1395 XY TON 391 1959N)

And nevertheless X2 prohibits nawa 79nna 7802, following the view of w''1,
for it is considered a 3'"9XRWM; this is how *»X 27 understood XMW -

! A 3"oxxw 79X9n is for instance where one digs a pit (which is 7112 21w MOK) but he only needs the dirt and not the
pit. Here too by &7 0°91 he is making a nina (which is 7112 noX%1) by bursting it; however he does not need the mno
but only to rid himself from the pus. According to 7717° "1 who maintains that a 3"2¥Xwn is 21, one is forbidden
RN™IRTA to be XD 001 (just as one is forbidden Rn»MRTA to be a 719Y? RYK ¥"X) 112 191). However according to
" it is only 1312777 MK to do a 3"7¥xwn, therefore by a X071 001 where he is alleviating his pain, the o°man were
lenient and permitted it even 771n3%. In any event since X" challenges ?Xww from this 7awn, which follows the view
of w"1 (by a 3"2¥xwn), it will be necessary to assume that (according to ") ?Xmw agrees with w"2 by a 3"7¥xwn. See
however later in this M0 (footnote # 12) that PXmw agrees with > by a 3"%¥xwn that one is 2.
? See “Thinking it over’ # 2.
? See X, that YXmw agrees with w".
* See 3,7 where it seems that if we maintain 7°p2 75» 07 and 7>7% X177 079, then it will only be 70X according to >,
but not according to w"1 (since he is 112071 1°X), w"y. Nevertheless, X" who was 7°% o°p that 7°ps 7pon and X177 072
7%, was forced to assume that XMW, who was 20X to be nawa 7%nna $°va, understood that this is a case of A"7¥Xwn
([since 7% X177 077] and not merely 1507 1°K) and it is 7OK even according to w'"; for otherwise if it is merely a
case of 11207 11°X, how can ?X1Mw be T0IX, since he agrees with w" that 11501 1K is 72057 Ann. See footnote # 15.
One explanation why it is considered a 3"7¥xwn (and not 11907 1°K) is because at this point X"1 assumed that it is a
7"0o regarding the nns, but 2 X1 X2 (see 3 7*¥o 5" "0 "X ¥"w), and according to the "1 a "1 R77 7"02 is MOK
just like a 2"2xxwn. See *xn 1"7 8,7 '0in TIE footnote # 29. It is only later in the "7 ([according to the n"1] see
footnote # 9) that NMdOIN maintains that it is not a 7"o>.
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So therefore he challenged 7%1mw from the case of X271 ©5»; that just as by

X012 097 if his intent is to remove the pus, the 71wn rules that he is 91w» -
- ANY 759 1IRT 1153 AN NVT )Y N1

And we have established that in this case of Xo™» 0’971 he is (not only) = but

also 1771n5% 2nn, since he has no need for the nno; it is a 3">exwn -
= 9¥8 DIVYMN 29V RDIIN YION DAN 9V A9 19998 NIINY NINTN INVT 2) Yy GN

And even though that by other 3'%xNwmn, the ruling is that it is 9998 a8 =25,

however by 80912 0°9n it is permitted 51N> because of the pain it causes -
- $59unY 19 »N MIYN BIYN M) NN

Here too by 77°va we should permit it because this 72°v2 is a 713% —

moon offers another option:
= 99V 799 55y D1 13539 W91 MINM DIV 29V KIYY DIUN 1999V 199N T

And even if we assume that there is more reason to be 2°n» on account of 1vx,
than on account of a /mxn», as the n''9 explained previously, nevertheless X" has

a proper challenge to x1nw -
= 910N NN RIYS DIYN IND IN NND 12390 NIYW PO MNT INT NONT

For here by Xo7n where there certainly is a 2''®2 regarding the nnp, it would

be 71oN if not for the 9¥X (therefore we need the ¥ to be °nn) -
- NIYN NPT 2) DY N »9WNY 1 5PN NHrya *a) YaN

However regarding naw2 179°p2, we should permit it even though there is no
WX -
= NN PPIYY NIV PIDD NN NDT D
Since there is no 2''o5 regarding making a nnp (even though 7% X117 27%) -
- 3,097 999 N1 Shno HWY XY BT NNKINY TWONT 119
For it is possible to remove the o°>1n2 27 without making a nnp as is evident
previously in the x13. This was the challenge of "X .

mooIN continues explaining the answer of the Xna:
- 93057 s99an o4 43077 PPY XYY PP NIN YN

5 See X,3 NAW.

% This view of 900 maintains that just as we are M2 a ¥ 2Wwn 3"2¥xwn we should similarly be mgn Dwn M.

"07% a2"7 'o1n 2,7 [TIE footnote # 8].

¥ noon is arguing that if a ">¥xwn (where there is a 1"09) is permitted Xvx DWwn, then by a 3"™>¥xwn (where there is

no 1"o9) it should (also) be 771n57 M1 even without the AN of XX, See ‘Thinking it over’ # 1.

? See 07> 7"7 '01n 2,7 [TIE footnote # 4].

19 According to the *"2 (on 7> 71"7 2,7) it is a 791 727¥:7 72X and XN MXTA MoK, and according to the n"3 (there)
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And the X3 answered; here by 12°v2 the blood is indeed encased, however it is

not separated from the body, for 7x»w maintains that the 0°n2 a7 is attached
to the body and there is the issue of 717121. This concludes the answer of the X7na.

N1v0IN comments:
= TP98 NN NNAYT 1YY Y81 »"NT 10 NYM

And in truth the X773 could have answered that he requires the nmnp (and not

[only] the 07) and therefore it is a case of 7112 and it is a 791 72787 7K -
- 99 23w 1998 XYY B9 1Y ©IPT INMD %99 NN

However, the X7 answered according to the conviction of X" that the jnn
requires the blood and not the rns.

nvoIn asks:
- oy 299 1Y 920 NANY 199N NINY NINYNA ININY NAT NN

And it is astounding! For regarding a »'23Nw», ®Xmw agrees with 9''9 that it is
n"an MoK -
- (2% 47 DRAY) PTNN 99 P9I (0w n,n9 97 CPPININ DI 1I9ININTS

As the X3 states in 7P 29 and in 29707 92 P95 how can X" challenge YXmw
from the ruling of X0 091 which is according to w"3, when YR maintains like >"1?!

mMooIn has an additional question:
- 14”1\0‘.7?&5 99 N PYNRY 229 99YT 119519 1PRY 939197 1Y)

And furthermore the X713 should have challenged %W from the rule of a =27

19on% PRW, where @' permits it 751037 -
$OWY PIDD NN XYY PNODA 2197 1193 PN9135 19998 NNRY NINYMIM R

But the X713 should not challenge X1, from a case of a""™»xxwn, (for nawa 72°va

1s a case of 1201 PR, and) since 7770772 PPROP2 219, so there is no 9'"'®2 and he should
be 2nn. MooIN does not answer these two questions.

it is a 3"7¥xwn and 1312771 OK (according to w").
"' See “Thinking it over’” # 2.
12 See footnote # 1.
BA marginal note amends this to X,2% 77°3 P79 (naw).
4 H5xmw agrees with w"1 that a 11207 PRW 127 is 72n57 2 (when there is no 1"o9).
"> A 3"9uxwn means that he is doing the act of the 79%2», but not for the purpose for which the 79892 was intended
(as it is by 779Y% RO X"X) Xm0 79117 or by X071 0°91; he is doing an act of 1713, but he is not interested in any 132 at
all, just in 79y and nm°? NR¥IT respectively). However here by 77°v2 he is not intent on making a nno at all since 077
7% X177 (and there is no issue of 772 since 7°Pd TPHN); it is possible that as a result of his %2 he may make a rind
inadvertently (but not necessarily, since 1°X°P2 217), so it is a regular 1207 X (without a 1"'09), which is w"2% 0,
so how can 2Xmw be nawa n5nn2 71w2? 70X, See footnote # 4.
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SUMMARY

nX 27 assumed that (PX%% maintains) 7°p9 7791 27 (so there is no 7Man) and 27>
T°7x X177 (but not 1NDY so it is at most either a 3"2¥RwWn or PN 1°X). He therefore
challenges 7Xmw from the mwn of X0 0°9n7 where it is M (because of Wy
[even though it is a 7"09]), similarly here it should be 7012 (either because of a M~
or because there is no 7"09). X" concluded that 22r°» > o7. It would have been
more appropriate to challenge X2 based on 11507 X than on 3"7¥Rwn.

THINKING IT OVER

1. m»poIn asks that if by (a 2"?¥Xwn where there is) a 1" it is XWX DPrna NN, the
rule should be that (by a 2"9¥Xwn) where there is no 1"09 it should be 2nn even
without 83%.'® Seemingly if it is not a 1"o5 how can it be considered a 3™>¥xwn (at
most it is 71901 11x) 72!

2. Mo said that initially "»X ' assumed that 7p5 7pon 07 and 77X X7 o7.'"% In
the answer however we assume that 92r°» >3 7. The X723 could have answered
that 7% X7 oY, but it did not want to change the 7°% o°p of X"1 that X1 o7?
7¢."” The obvious question is that we are changing the initial view of X"
regarding 7p9 7pon 07! What is the difference whether we change the view of 17
0D TPON to 12K NI or from X X7 OTY to I RIT Anoh 212

16 See footnote # 8.
17 See footnote # 4 & 15.
18 See footnote # 2.
1 See footnote # 11.
20 See p"now and MSW XOS.
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